AT I T
20244 12R 9H (B) b
-1

E%L*“Jl’: i) ¥k ok k%
(R SR ‘ i, S Sh N L R
W5 Tk W 1 dk | R 1 [GROSS|HDCP | NET — - m®®®@®©®® 02EDHECREO®
HERS | TR B 83 53 [19.2 | 33.8 K - B 4 E &t @ b
3 |hE a4 06| s d 5L [V W7 e ROSS| HDCP | NET =
A | mr dE— 9 49 [14.4 | 34.6|% 52 \tidk X R 48 110.8 | 37.2
S{7 i Brs s 48 |13.2 | 34.8|% o WA 54 ] o4 |16.5) 37.2
o N KE 52 } | " 5 1165 | 55 2|8 SAfL | A 47 ! | 54 116.8 | 37.2
0| GEE B ¥ 39 | 3.6 | 35.4|& SSL R il e 5
AT 139 | 2 | 36| 354l BEfE | EA —3F } 5 471 9.6 37.4
of Bm E% 30 1 30 | 3.6 | 35.4 % STAL | R 1= A 471 9.6 37.4
106 | B[ TEfE AR 45 | 9.6 | 35.4|% SBAL | JHRE VAR 53 1 33 115.6 37.4
RS - 45 | | 45 | 9.6 | 35.4|% 59{;}_, K%k BEIR ! a5 | 53 |15.6 | 37.4
127 |05 Se— L 45 9.6 35.4 6O | HHET % L 52 46| 8.4 87.6
13 | EH B ECI A 15 | 9.6 354 SULL | R L g T 52 [14.4 | 37.6 K
AT s | 51 ! ) 51 115.6 | 35 4 62{% ik EL ! | g | 52 [14.4 | 37,6
1507 b T LBy 51 15.6 | 35.4 63| il Mk s 52 |14.4 | 37.8
6 AR T 44 : | 42| 8.4 356 BAML | IR (AT . D g5 45 | 7.2 37.8
L7h7 [ #2267 : v 37 37 1.2 35.8 65{% KR fEiE 51 ' ; I 45 | 7.2 | 37.8
A E b4 49 [13.2 | 35.8 GoRr | a3k A a— 51 13.2 57.8
1967 | Wi e 49 49 [13.2 | 3.8 6747 | A e b2y .8
20fir |15 A A L 49 |13.2 | 35.8 68fiL |EE ik 570 1T 51 {13.2 | 37.8
A B - ; 36, 36 | 0.0 | 36.0 7R BONL | ¥t L b 57 | : 57 119.2) 87.8
AL a2 42 [ 6.0 36.0 TOf | AR % s7 0 o 57 [19.2 | 37.8
23fridEE fF I 48 [12.0 | 36,0 TUL IIE il . 57 |19.2 | 37.8|f¥
2afy | B RET 56 | 5 56 |20.0 | 36.0 L N ERE Cep 50 [12.0 | 38.0
254 | 7 i |47 | 47 |10.8 | 36.2 3L | KB T e ! 50 |12.0| 38.0
AL T TS N I 53 |16.8 | 36.2 T RE 20 7 ep ! 50 112.0) 38.0
AL O b6 46| 9.6 | 36.4 50 SRR WF o 50 [12.0 | 38,0
2L A R B0 46| 9.6 | 36.4 1AL B L -2 50 112.0 | 38.0
20f | B Fh— 52 | ' ! 52 |15.6 36‘4 77{% g 7 } 56 1 | 56 |18.0 | 38.0
softr | fm B2 52 |15.6 | 36,4 B =3 v B 56 |1 56 118.0 38.0
AL : : 39 29 | 2.4 | 36 6 R 79{% s/ Ex 49 | ! ! 56 |18.0 | 38.0
300t | — /¥ T 0 39 [ 2.4 36.6 SO A [ 49 gl a2
33 | Py m ERT 45| 1 1 | 4584360 SUIL [Hin B2 R S ETR AR w1
ANV s 45 45 ] 8.4 | 36.6 82 | 7R el 49 [10.8 | 38.2
35y | IR = 81 ! 51 |14.4 | 36.6 83fiL |#&A  \\OF 49 | | | 49 {10.8 | 38.2
3607 | Eik BiE L 1 51 | 14.4 | 36.6 Sl BB AT 55 1 1 49110.8 ) 38.2
3|+ Rk 447 1 1 | 44 1.2]368 85 | BFHf T SR Y
38{1‘[: /J\ﬁ‘ '.%‘i%‘ 44 X : : 44 7.9 368 86{1_& ;”:ﬁﬂ %‘% T T 33 : 55 116. 8 38.2
3047 BT =— : 44 | a4 | 7.2 368 87{% e I ! ! P ! 55 [16.8 | 38.2
401 | TaFE =kt i 80 50 |13.2 | 36.8 88U |7 ik AT 42 | 3.6 38.4
a1z | p)1| - 3LHE ;96 | ! 56 119.2 | 36,8 |FE SO IRy FIA 48 ! i 48 | 9.6 38.4
ALESE B 431 6.0 37.0 EULSL T 4 48 | 9.6 38.4
4307 | ANRE  FEA e B 43 | 6.0 | 37.0 I AEN g 48 | 9.6 | 38 4|
afir | E o aR P49 49 [12.0 | 37.0 92 | BHiE 1= e 48 | 9.6 38.4
451 | JFPY  AizkE ®or 49 |12.0 | 37.0 oM | =R BT 154 e
AL L 95 ! 55 |18.0 | 37.0 04fir | T 5 | | . 54 |15.6 | 38.4
AL NI 4 1 57 (20,0 | 37.0 S5fi | Mt el 54 |15.6 | 38.4
AV T P8 48 |10.8 | 37.2 S6NL |iITHE K e 54 115.6 | 38.4
aoff |7 B= R R 48 [10.8 | 37.2 oTfir \Ew SE S 471 8.4 38.6
50{35 *‘IEEE @a : 48 : | 48 [10.8 37. 9 981’% *3% j]l]ﬁf!_-]: ! : : 47 8.4 38.6
\ 80 48 [10.8 | 37.2 78K Oof|BFL B e bl B
: . 2[3 100fi7 | @)1 3E ‘ 83 53 |14.4 | 38.6
%2, 52 |13.2 | 38.8 K

RELIA NV —2FT



BATH T

p-2

20244 12/ 9B (A)
(g fr
; -l %ﬁﬁ IS%« =it
I e LTI T
TAEE ] = « ! G
1036 |08 K 521 1 RosS|HocP | NET | U PODIOD e eeoee T
10407 | F & ﬁﬁiﬁ | i 52 | 52 |13.2| 38.8 I [ DD * % ok K K
Ll o L) 2 52113.21 35.8 51 2@ _HEE T 02EIGEDED
| OB TR i -2 38.8 152fi; £ EREE
10740 | K e 7l ! : ! 58 {19.2 | 38.8 i BE A% ; : ; GROSS| HDC
i . 1534 | FRy " 57 1 P | NET
10847, | 42, 5hXC i 51 45 | 6.0 | 39 R SE b 5 fii &
.0 154fi7 | j Z L 15T 7/16.8 | 4
10045z | (11 XF sl 51 (120 39.0 lsdf ! ! ; 0.2
i : 551 | JEh_ 5T 71168 4
1104 | it s DBl 51 12.0 | 39.0 165 ik AR 50 Lo 5 0.2
T . 56{i7 | #5 i i ! i 7 116.8 | 4
1117 | K& =i 57 : ! : 51 |12.0 | 39.0 15747 AR EA i X 1 50 a.9
i 1o . STHE | B s L 50 | 9.6 | 40
112(1 | B3R U2} 59 1 1 57 |18.0 | 39.0 15847 5[ 50 ! : 50 A
. B8F | F I ! i 9.6 4
113{f[ T iES 59 , : T 59 |20.0 | 39.0 i #F 50 1 h 5 0.4
- . 1594 ! i 0| 9.6
e | 2% =4 500 50 20.0 R AL S 50 ! w 40.4
1151& E%']é? E& 50 1 E 20 |08 | 9.2 %g?}% ﬁﬁﬁ iﬁ% o 50 | 501 9.6 d0.4
116{i e L] 56| 50 |10.8 | 39. i AE R e 1 .6 | 40.4
e g we | 49 | o 5 168 202 ig%}% e R 0 | P01 26 0.4
LS | A = R 9.6 | 39.4 Lpals | EE LS e TR .4
TR = . B4 | 3t = P49 9| 844
o AR SR g ! 0] 96354 lodfi ki R | 19 0.6
I | Rl 5 . 65{1[‘ [:F] . ! 1 54 ‘ 8.4 4
12007 | A5 bt : V49 49 | 9.6 | 39.4 3L o OAE ! | 5 0.6
= . 166(i |t & ! 54 | | 418,21 40
L2 KA R 155 49 | 9.6 | 39.4 166ir | £ RF Lo L 54 -8
i . 0L AR B 60 w 13.2 1 40
e + ; . 68{i | 1E =2 47 1 19, 2 | 4
1230 | B4 E_%E ' bh 1 X 55 |15.6 | 39.4 1694 H# flE 1 \ 4 0.8
o - . 6L | B = | B3 \ 7| 6.0 4
12447 | K4 e L 48 55 |15.6 | 39.4 X 1701 PR el T ! 53 1.0
A = . TOf7 | & ' 53 12.0 | 4
12507 | BE4E X \ ! 48 | 48 | 8.4 | 39.6 i o 5Lz 59 | I 53 1.0
= . 17U [#s ! i | 12.0| 4
12643 . i 54 1 I ! 48 | 8.4 = s AR | ; 1.0
o7l s % sl | %[l 3.6 Lot P si o I
129f¢7 %A%%E” a7 ] 1.2 o 173% gﬂk SR B 61 120.0 1 41.0
130{3 | ik 5 AT 7| 7.2 39.8 Lo L 1H. A s 52 | 10. -0
A _ . TohL |48 B2 0 10.8 | 4
131fi |8 & : |47 47 | 7.2 39.8 774 A fiF 58 r | 52 1.2
d . THE | F ‘ | ! 10.8 | 4
132fir | 34 1= 1 L 183 47| 7.2 39.8 [T TR EF 58 1 ' 58 1.2
™y . 78{}!_ I:Fl | ! 1 16-8 4
133{i | 7§ ﬁ@fﬁﬁ ! 53 ! 53 13.2 | 39.8 1796 H &C 58 . 58 1.2
™ . 790, | f - ! ) ! 16.81 4
13447 | 1t o = : I 53 ' 53 [13.2 | 3 TEH 3L FHEH BE 51 °© . ! 5 1.2
™ ﬁgstﬁ ! | ! 5 9.8 180{& I:F' ) 1 8(16.8 | 4
135’{1{_ ﬁ& H . 59 ! 3 |13.2 30. 8 1 = I% fﬁk 57 1 1 H 5 1.2
AL . 81 H ! I 1] 9.6/(4
136 EL, gy 59 |19, 2 AL ' 1.4
L B | 52 2 ) 52 |12.0 s LSadL s - & | o786 414
138 | INTF iR ¢ 52 ' 2 |12.0 | 40.0 I i 3EE SRR ! : | 5 : 1.4
AL . 8447 |2 50 0| 84
13942 pAEN 521 52 [12.0 i |EA 150 0 416
Lo | BT s 52 | 12.0 .0 IRl R 20 8.4 4L
14147 | 42 = . b8 ' 18.0 ’ A ] ! 1 . 6
142{3 %%; ﬁéifff T L 8 |18.0 0 }ggﬁ $E Ee — - | AR
1434 | $BD R 18.0 | 40.0 - Py 611 9 | 7. 1.8
iy = . 1894\ |48 | ! I 9| 7.2 | 4
144437 | kA7 R 60 60 |20.0 4003_"féE 1800 |8 T ] 6 1.8
A = . 907 |7 ! . Bl 1(19.2 | 4
145607 | | i BR 60 } | : 60 |20.0 | 40.0 l A ] | } B 1.8
L Jiin . 191{1,!. 1 Bl ! 11(19.2 4
1460 [#F 1 ke ; ' 6o | 60 |20.0 | 40.0 Tz =R A . 8 1.8
™ . 92(iF. - . I GO 1119.2 1 4
14745 | #75F =IEE 5l . ' . 60 [20.0 | 40.0 Losts M EE : ! 60 1.8
™ ' L . 93{v7. | % : ! L B2 18.0 | 4
14867 | +45 18 51! , 51 [10.8 | 40,2 194 kBT | ‘ . 6 2.0
™ L . 94437 |&A . 62 | 2 120,01 4
1 . 5 ' ' 20.
1501z | A g sl 1o 2 1008 | 102 196% ;gi =3 59 62 o2 1200 | i
g7 | 57 |16.8 40.2 1974 | AR H ;.;E 2o L 22 20.0 | 42.0
w ! I 57 - 40.2 1987 | & \ 1 X 9 |16.8 | 42
. 16.8 | 40 = H A 62 ! 52 2
2R ol % L
i ¥ ! ! .2 4
‘R T 63 | 5 ! o1 |18.0 43:3
! |63 | 63 [20.0 | 43.0
L 63 |20.0 | 43,0
KB
- — —
F—& 57




L7 h S

20244 12A 9RH (A)

T
|
|
|
1
1
1
1
1
I
I
I
F
3
i
|
|
|
|
|
|
|
|
|
|
1
1
1
1
1
1
i
1
i
I
1
1
I
I
I
]
}
i
|
|
|
|
|
|
|
|
|
|
|
|
|
1
|
|
|
1
1
1
1
1
1
1
1
1
1
1
1
I
b
1
b
b
|
!
t
!
|
|
|

T
|
|
|
|
1
1
1
1
1
1
I
I
i
I
I
|
|
|
|
|
|
|
|
|
1
|
|
1
1
1
i
1
1
1
1
1
I
I
i
I
'
i
i
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
1
1
1
1
1
1
1
1
!
1
1
1
1
|
1
|
!
|
I
I
]
|
|
[
|

1
1
1
I
]
I
3
|
|
|
|
|
|
|
|
1
1
1
1
1
1
1
1
1
I
1
I
I
I
i
r
i
|
|
|
|
|
|
|
|
|
|
|
|
|
|
|
1
1
1
1
1
1
1
1
1
1
1
i
]
1
!
3
]
]
3
]
i
|
|
|
|
|
|
|
|
|
|
|
|
|
|

B2 Ld-w: 79 kok ok Kok ok [ %ok ok ok * K ] s ok ok %k kK
O2AeeIe® TCORDEEDED DEEOEEIDED
(Vi fir A4 R GROSS[HDCP [ NET | {f % |ME fir BEL W | J | % ., [GROSS|HDCP| NET | f% & )
20L0F | 404 63 63 |20.0 | 43.0
2020 | #FE B= 54 54 |10.8 | 43.2
203 | KHEE FH 60 60 |16.8 | 43.2
20407 B E i 60 60 |16.8 | 43.2
20540 | dRBF 52 52 | 8.4 43.6
2060L | #pE EF 57 57 |13.2 | 43.8
207 |[H FR/E 63 63 119.2 | 43.8
208 | EFF EE 64 64 |20.0 ] 44.0
2090 | FrP9  fodE 55 55 |10.8 | 44.2
210{v Bl [HAE 55 55 |10.8 | 44,2
2014 | MF A 61 6l |16.8 | 44.2
21248 (A2 1L fRRE 58 58 |13.2 | 44.8
21300 | FE  HE 65 65 | 20,0 | 45.0
2144 |75 BAI 65 65 (20.0 | 45.0
2154w | n@E — 62 62 [16.8 | 45.2
216( (kA =M™ 58 58 [12.0 | 46.0
217 [$k0  FBIE 66 66 |20.0 | 46.0
218 12 RHETF 66 66 |20.0 | 46.0
2194 | Rt KT 66 66 |20.0 | 46.0
22000 | BE LT 67 67 [20.0 | 47.0
22140 | & TEN 67 67 [20.0 | 47.0
2224 | WL R|E 63 63 |15.6 | 47.4
223 | FE HE 66 66 |18.0 | 48.0
22447 | IhE  FwWbF 68 63 |20.0 | 48.0
225hi AERL TERL 69 69 [20.0 | 49.0
22601 (LA YaE 70 70 [20.0 | 50.0
227{V | g AEAE 71 71 (20.0{ 51.0
228(L (R EH— 80 80 [20.0 | 80.0

_/

REWUA M=o F7



